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1) Select the correct question tag: 
A) He’s never seen you before. Didn’t he? 
B) He’s never seen you before. Hasn’t he? 
C) He’s never seen you before. Did he? 
D) He’s never seen you before. Has he?  

2) Pick out the sentence with SV pattern. 
A) He shook my hand. 
B) He made a new gadget. 
C) The stars twinkle at night. 
D) The strawberry ice cream cone with the cherry on top of it 
melted. 

3) Which one has correct gerund form: 
A) Do you recall seeing someone like that? 
B) Do you recall to see someone like that? 
C) Do you recall having been seen someone like that? 
D) Do you recall being saw by someone like that? 

4) Which one has the correct infinitive: 
A) Finding to fault with others is easy. 
B) It’s easy finding fault with others. 
C) It’s easy to find fault with others. 
D) It’s easy to find fault to others. 

5) Give the suitable order of articles in the blanks of the given 
passage. Write the correct code given below: 
Let us begin ....... discussion now. The subject of ...... 
discussion can be ...... idea, ...... claim, ...... result or ....... fact. 
A) a, a, the, a, a, a  B) the, a, the, the, a 
C) the, the, the, a, a  D) the, the, an, a, a, a 

6) Select the correct option to complete the sentence. 
Divide the candy ............. 
A) between the three of you    B) among the three of you 
C) for the three of you             D) into the three of you 

7) Identify the sentence: 
Here is a barrier that cannot be passed. 
A) Simple B) Compound  C) Complex   D) None 

8) Identify the question with the correct question tag. 
Somebody has come to meet you, ................ ? 
A) have they?  B) hadn’t they? 
C) hasn’t they?    D) haven’t they? 

9) Fill in the blank with suitable article: 
Have you seen ....... U.F.O? 
A) an         B) the         C) a   D) no article 

10) Find the sentence in which the italicised word is used as verb. 
A) I am not sure of the right answers. 
B) He was standing right behind her. 
C) The rights of the book are sold. 
D) The government needs to do something to right the 
economy. 

11) Select the correct option to complete the sentence. 
Why don’t you leave now? That’s what I would do. 
If I were you, ................... 
A) I won’t leave  B) I will leave 
C) I would have left  D) I will have left  

12) Pick out the sentence without a complement. 
A) In those days they ate raw meat. 
B) The country became independent. 
C) People considered Picasso genius. 
D) He stayed quiet. 

13) Replace the italicised word with future perfect continuous 
tense. 
He had been swimming for hours. 
A) has been B) will have been C) is been  D) have been 

14) Identify the simple sentence. 
A) I didn’t study although I knew I had a test. 
B) After school I took a long nap. 
C) She fell before the game started. 
D) He worked hard to pass the examination. 
 

15) Match the words given in column A with their antonyms in 
column B and select the correct answers from the codes 

given below: 
Column A   Column B 

a)  aerate      1. increase 
b)  paucity     2. attentive 
c)  negligent   3. plethora 
d)  dwindle     4. suffocate 
 a b c d 

A)   1 4 2 3 
B) 4 3 2 1 
C) 1 3 2 4 
D) 2 1 3 4 

16)      Column A  Column B 

a)  make ends meet     1. in charge 
b)  at the helm  2. in short of money 
c)  break even    3. manage with money  
d)  feel the pinch  4. no profit or loss 

 a b c d 

A)   2 4 1 3 
B) 4 1 2 3 
C) 3 1 4 2 
D) 3 4 2 1  

17) Fill in the blank with suitable preposition given below.  
Take your feet ......... the table. 
A) of B) on            C) by D) off  

18) Column A   Column B 

a) ify   1. calori 
b) fic      2. celib 
c) acy     3. sancti 
d) ile     4. frag 
 a b c d 

A)   2 3 1 4 
B) 4 1 2 3 
C) 2 1 3 4 
D) 3 1 2 4 

19) Fill in the blank with suitable preposition. 
His sister holds a degree ........ physics ....... Oxford. 
A) on, at B) like, in     C) in, from  D) in, with 

20) Find the odd one in each set. 
1      2              3        4 

a) reveal        veil              disguise         hide 
b) lose           salvage       rescue          recover 
c) boorish      refined         rough            rude 
D) barren       fruitful          fecund           lush     
 a b c d 

A)   3 1 2 1 
B) 1 1 2 1 
C) 1 2 2 4 
D) 3 4 3 2  

21) Fill in the blank with correct homophone. 
He........ the first opportunity as the next one may....... to exist. 

A)seized, seize  B)seized, cease C)ceased, sieze D)cease,siezed 

22) Change into positive degree. 
Greenland is the largest island. 
A) No other island is as large as Greenland. 
B) Very few islands are as large as Greenland. 
C) No other island is larger as Greenland. 
D) No other island is large as Greenland.  

23) Ebenezar had meanwhile stealthily inserted a finger into the 
pages of the closed Bible. On the word of command from the 
Head Master, he tried to look sweet and relaxed his brow, 
which was knit in fury. He then opened his book where the 
finger marked and began to read at random. It happened to 
be the Nativity of Christ.  
Pick out the sentence relevant to the passage. 
A) He started to read spontaneously without any instructions. 
B) He was stressed and frightened to read. 
C) He stopped reading the pages at random. 
D) He read the chapter on birth of Christ.  
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24)     Sentences  Pattern 

a)  Birds fly in the sky  1. SV 
b)  The crowd cheered  2. SVC 
c)  Ram scored a goal  3. SVO 
d)  We went yesterday  4. SVA 
 a b c d 

A)   4 1 3 4 
B) 4 3 1 2 
C) 3 4 1 2 
D) 2 1 4 4 

25) Identify the degree:     Give me the white flowers. 
A) Comparative degree B) Positive degree 
C) Superlative degree  D) None of these 

26) Fill in the blank with suitable preposition. 
Don't lean that ladder ........ the wall.  
A) by B) against     C) on D) at 

27) Change into positive degree. 
A sunset on sea is one of the loveliest things in nature. 

A) No other things in nature is as lovely as a sunset on sea. 
B) No other things in nature is so lovely as a sunset on sea. 
C) Very few things in nature are so lovely as a sunset on sea. 
D)Some things in nature are atleast not so lovely as a sunset on sea 

28) Select the correct option to complete the sentence. 
My aunt or my uncle................... 
A) are arriving today  B) may arriving today 
C) is arriving today  D) were arriving today 

29) Match the italicised words given in column A with their parts 
of speech given in column B and select the correct answers  
a)  He sat on a chair  1. verb 
b)  This is most unlucky   2. adjective 
c)  Raise your hands    3. preposition 
d)  Always aim high  4. adverb 
 a b c d 

A)   2 3 1 4 
B) 4 1 2 3 
C) 3 2 1 4 
D) 3 1 2 4 

30) Find out the part of speech that is not used in the below 
sentences. 
I)  It’s a small key.                II) He spoke in a low key. 
III) The exam key is stolen.  IV) He is a key figure in politics. 
A) Noun B) Adjective  C) Adverb  D) Verb  

31) Select the correct option to complete the sentence. 
I didn't buy more milk, so I didn't have enough for breakfast.   
.............. more milk, I would have had enough for breakfast. 
A) Have I bought  B) If I have bought 
C) If I had bought  D) Had bought 

32) Which one of the following is correct sentence? 
A) This is the less price, I can pay. 
B) This is the lesser price I can pay. 
C) This is the least price, I can pay. 
D) This is the little price I can pay.  

33) Find out the correct active voice for the italicised word. 
Let the door be shut. 
A) shut B) shutting     C) to shut D) be shutted 

34) Replace the italicised word with past perfect tense from the 
options given below. 

        I never saw such a beautiful beach before. 
A) will never see  B) have not seen 
C) had never seen  D) shall never see 

35)      Idioms   Meaning 

a)  told flat      1. is valid  
b)  holds good  2. expertise 
c)  tricks of the trade    3. expressed clearly  
d)  thick and fast    4. in large numbers 
    5. catch firmly 
 a b c d 

A)   2 5 1 3 
B) 4 1 2 3 
C) 2 5 3 1 
D) 3 1 2 4  

36)      Idioms     Meaning 

a)  a can of worms     1. easy task 
b)  child’s play     2. do not touch 
c)  hand’s off   3. new problems 
d)  cut corners  4. do task easily 
 a b c d 

A)   3 1 4 2 
B) 4 1 2 3 
C) 2 1 4 3 
D) 3 1 2 4 

37) Which one of the following sentence has a participle in it? 
A) The lock was been broken and hence he repaired it. 
B) Being broken, the lock was repaired by him. 
C) The lock was broken and he repaired it. 
D) He was able to repair the broken lock. 

38)   Phrases/idioms   Meaning 

a)  run the show  1. be in charge of 
b)  rule the roost     2. take control of 
c)  rub the wrong way  3. competitive struggle 
d)  rat race   4. to irritate 
 a b c d 

A)   2 1 4 3 
B) 4 1 2 3 
C) 2 4 1 3 
D) 3 4 2 1  

39) Identify the incorrect prepositional phrase from the given 
option. 
The cat jumped........ 
A) onto the table  B) above the table 
C) over the table  D) between the table  

40) Replace the underlined British word with its American 
equivalent. 
There will be a 20-minute interval between acts one and two. 
A) recess  B)break       C)time out       D)intermission 

41) The selfish gaint stayed with his friend for  
A)ten years  B)seven month 
C)ten month  D)seven years 

42) Sue came to the bed where Johsy lay, contentedly knitting  a 
very------------- and useless woollen scarf 
A)green B)small  C)blue  D)strange 

43) The Camel lived ------------------- of a howling desert 
A)in the middle  B)at the southern end 
C)in the corner D)in the edge 

44) Who was known as the “people’s poet” and was the only poet 
honoured with the title” poet Laureate of Michigan” 
A)Doughlas Malloch  B)Edgar Albert Guest 
C)John Masefield  D)Ralph Waldo Emerson 

45) Which of the following is correctly matched 
A)My story    - Tagore 
B)De Profundis(from the depths) -Leo Tolstoy 
C)The story of my life   -Helen Keller 
D)My life in my words   -Oscar wilde 

46) Charles Lutwidge Dodgson is better known by the pseudonym 
A)James kirkup  B)Douglas Malloch 
C)Thomas Hardy  D)Lewis Carroll 

47) Which of the following was not written  by Pearl.S.Buck 
A)Far and near stories    B)East is East and West is West 
C)Hiawatha                     D)East Wind:West Wind 
E)the good earth             F)the child who never grew 
A)b,c,f only  B)b and c only 
C)c and e only F)all the above 

48) Match the following 
A)Serge  - Resin tapper 
B)Lal Singh  -Watch maker 
C)Behrman  -council worker 
D)Morissot  -painter 
 A B C D 
A)  1 3 2 4 
B) 1 3 4 2 
C) 3 1 2 4 
D) 3 1 4 2 



RADIAN IAS ACADEMY  (A Hi-Tech Advanced Coaching cum Guidance Centre)       -3-       www.radiannews.pbworks.com 

711 EVR Road, Opp. Anna Arch, NSK Nagar, Arumbakkam, CHENNAI-106.    E-mail: r.rajaboopathy@gmail.com    Ph: 98404-00825, 98404-33955 

 

49) Spot the odd one out 
A)Cymbeline       B)The everlasting mercy 
C)A midsummer Night’s Dream     D)Apocrypha 

50) Match the following 
A)Swami and the sun  - the war years 
B)The sun beam  -Wings of Fire 
C)Living Amicably  -Malgudi Days 
D)one minute Apology  -Curiouser and curiouser 
 A B C D 
A)  3 4 2 1 
B) 4 3 1 2 
C) 3 1 2 4 
D) 2 3 1 4 

51) “There is more than one way to do a thing” 
A)The sun beam  B)The ant eater and the Dassie 
C)The neam tree D)After the storm 

52) Birds migrate from the southern regions to the northern ones 
during 
A)early winter B)spring and early summer 
C)autumn   D)autumn and early winter 

53) There is tears for his love; 
Joy for his fortune; 
Honour for his valour; and 
Death for his ambition 
These words are uttered by 
A)Decius Brutus B)Mark antony  
C)Marcus Brutus D)Antonio 

54) Therukoothu is associated with Purisai village in -------- district 
A)Thiruvallur  B)Thiruvannamalai 
C)Pudhukottai D)Theni 

55) Spot the incorrect match 
A) life is but an empty dream  -metaphor 
B) the world is gloom and  
 splendour passes by  -personification 
C) O ye wheels! Stop!  
 Be silent for Today!  -personification 
D) Harmonic cacophony to  
 Oblivious ears   -personification 

56) Match the following 
A)unobtrusive - not growing smaller 
B)comtemplate -accept punishment for a wrong  
   and do something to show one is  
   sorry 
C)expiate  -not easily seen 
D)waneless  -think about 
 A B C D 
A)  3 2 4 1 
B) 1 2 4 3 
C) 3 4 2 1 
D) 2 4 1 3 

57) Spot the correct match 
A)still she haunts me,phantomwise -solitary reaper 
B)your eagle pinion is chained down -no men are  
at last    foreign 
C)like gnomes that hid us from the -going for water 
Moon 
D)today the world is little more my  -don’t quit 
own 

58) “I Dare. It’s Always Possible”  is an autobiography of 
A)Kalpana Chawla  B)Kiran Bedi 
C)Sunitha Williams  D)Edgar.A.Guest 

59) O noble judge! O excellent young man! Whose words are 
these? 
A)Antonio B)Bassanio C)Portia     D)Shylock 

60) Spot the incorrect match 
BRITISH ENGLISH      AMERICAN ENGLISH 
A) Timber   -     Wood 
B) Tube   - Subway  
C) Maize   - Corn 
D) Diversion  - Detour 

 

61) Match the following 
A)I will overcome one day - Charles Tindley 
B)America the Beautiful -Johannes Brahms 
C)German Requiem -Guy Caravan, Cindy Caravan 
D)A firecracker of a pianist -Karl Paulnack 
 A B C D 
A) 1 3 2 4 
B) 3 1 4 2 
C) 2 1 3 4 
D) 1 2 3 4 

62) Who among the following has won a Pulitzer prize? 
A)Pearl.S.Buck  
B)D.H.Lawrence 
C)Stephen Vincent Benet 
A) a &c only  B) a&b only 
C) b&conly  D) only a 

63) Kesavan Nair has been cultivating the---------------for the last --
------------ years 
A) 50 Para, 50 Years  B)50 Para, 40 Years 
C) 50 Acre, 4 Years  D)50 Acre, 40 Years 

64) Match the following 
A)Symbol of Good Luck - Pangolin 
B)Rock Rabbit  -Hill 
C)Kopje   -River 
D)Limpopo   -Dassie 

A B C D 
A)  4 1 2 3 
B) 1 4 2 3 
C) 1 4 3 2 
D) 4 1 3 2 

65) Who among the following is not an English (Nationality-
England) poet? 
A) Thomas Hardy 
B) Khabil Gibran 
C) Walt Whitman 
D) Stephen Vincent Benet 
E) Robert Frost 
A) All the above  B)a,b, only 
C),a,b,c,e only  D)b,c,d,e only 

66) Identify the synonym of ‘relinquish’ 
A)give away B)give up 
C)give in  D)give back 

67) Which of the following was not Rani of Jhansi’s name? 
A)Manikamika B)Manu  
C)Chhabili  D)Lakshmibai 
A)a&c only  B)a only 
C)none  D)c only 

68) Abdul Kalam’s locality was predominantly ------------- but few---
-------- families too lived there. 
A)Hindu, Muslim B)Muslim, Hindu 
C)Muslim, Christian D)Christian, Muslim 

69) “The highest result of education is tolerance “  who said this? 
A)Abdul Kalam B)Helen Keller 
C)Gandhi  D)Abraham Lincoln 

70) “Not in a dreamy and inane abstraction to sleep our life away” 
These lines are from------------------------ 
A) A Psalm of life B)Is life but a dream 
C) Women’s Rights D)The Solitary Reeper 

71) Match the poems/short stories with the authors 
A) A man who has no eyes 1) Mackinley Kantor 
B) Nine gold Medals  2) Rob Reilly 
C) Bat   3) Paulo Coelho 
D) The Piano   4) Randall Jarrel 
E) The tears of the desert 5) David Roth 

A B C D E 
A)  3 2 5 4 1 
B) 2 3 1 4 5 
C) 1 4 5 2 3 
D) 1 5 4 2 3 
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72) Catherine Mary Heilman changed her name to 
A)Saralabehn  B)Mirabehn 
C)Lakshmibehn  D)Sarojinibehn 

73) -------------------------- bring rain and trap the water. ------ dry out 
the land 
A)pines, oaks B)pines, Kafal trees 
C)Oaks, Pines D)Neem Trees, Oaks 

74) “There is something for all of us here 
There”s big work to do and there’s lesser to do” 
A)James Kirkup B)Henry Vivian Derozio 
C)Edgar.A.Guest D)Douglas Malloch 

75) The poem’ Earth’ is an extract from a collection of poems and 
essays entitles 
A)The eye of the prophet    B)Leaves from the backwoods 
C)leaves of grass         D)Salt water Ballads  

76) Identify the figure of speech 
“Laugh till the game is played” 
A)Metaphor  B)Personification  
C)Alliteration  D)Allusion 

77) Identify the figure of speech 
“Don’t give up though the pace seems slow” 
A)Metaphor  B)Assonance 
C)Personification D)Hyperbola 

78) A particular piece of music considered by Beethoven to be his 
most tempestuous piano sonata 
A)Baldovinetti B)Appasionato 
C)Cassoni  D)Quartet for the end of time 

79) Who is the author of “You can’t be that,No,You can’t be that? 
A)Ruskin Bond B)Hope Spencer 
C)Rex Coker  D)Brain patten 

80) The fascinating summit of --------------------------- spirals up into 
the blue sky like a giant corkscrew 
A)Surajkund  B)Ragashkund 
C)Mandayo  D)Trishuli 

81) A dominant landmark of the --------  outskirts of Madurai is 
Yaanai malai 
A)North Western B)North Eastern 
C)southern Western D)South Eastern 

82) Match the synonyms 
A)opulence  1)splendid 
B)grandiose  2)mighty 
C)magnanimous 3)lavishness 
D)herculean 4)impressive 

A B C D 
A)  2 3 4 1 
B) 4 3 2 1 
C) 4 3 2 1 
D) 3 4 1 2  

83) Malgudi Days is  a well known book by 
A)K.R.Narayan B)Salman Rusholie 
C)R.K.Narayan D)Ruskin Bond 

84) Who is the author of the popular poem ‘If’? 
A)H.W.Longfellow B)Khalil Gibran 
C)Rudyard Kipling D)Thomas Hardy 

85) A)Series Number   1)46 
B)Lottery ticket’s number  2)7500 
C)Winning lottery ticket’s number 3)9499 
D)Prize money   4)9949 
     5)26 

A B C D 
A)  3 5 1 2 
B) 4 1 5 2 
C) 3 5 1 4 
D) 3 1 5 2 

86) The Tribal Dance of Bodo Community of Assam is called 
A)Bardo Chham   B)Bihu   C)Bagurumba D)Lava 

87) Spot the incorrectly matched pair 
A)Kollapan  -Reflowering 
B)Makhanlal  -The neemtree 
C)Lal singh  -After the strom 
D)Khem Nam -To the land of snow 

88) Who is the author of the play ‘’The Importance of Being 
earnest and the short story ‘’The Happy Prince?  
A) Oscar Wide  B) H.W. Longfelow 
C) Pearl s. Buck  D) Rudyard Kipling 

89) Where does Morissot and Sauvage used to go for fishing?  
A) Maine B) Ile Marante C) Oryol   D) Naples 

90) What was the value of the necklace that matilda found in a 
shop of the palais - Royal 
A) Thirty six thousand francs B) Forty thousand francs 
C)Thirty –four thousand francs  D) Five hundred francs 

91) Identify the personality who holds the title ‘’The Guardian 
Angel of Woods’’ 
A) Amrita Devi  B) Bhagubai  C) Kaanchanai D) Nandha devi  

92) Find the poetic line which is associated with the Romantic era 
A) You blossomed into a nascent loveliness 
B) A Voice so thrilling neer was heard 
C)I’ll doze when I’m sleepy and wake without a knock 
D) Be a bush, if you Can’t a tree  

93) ‘’He was once hunted into a cemetery somewhere on the 
banks of the ------ by a pack of mongrel dogs’’ Said Vera 
A) Limpopo B) Irrawaday C)Meghna D) Ganges 

94) Ibrahim Hassan Rowther is no Longer a mere adding Machine 
He is now the Manager It is God’s will who uttered these 
words 
A) The Ayyah  B) Gomathi   C) Rowther himself D) Ambi 

95) ‘’Keep your flag flying high. Dont give up’’ these words are 
from 
A) After the Storm B) Vision for the nation 
C) The Neem tree D) The Ant eater and the Dassie  

96) ‘’Not that I have Caesar less, but that I loved Rome more’’ 
uttered by 
A) Mark Antony  B) Decius Brutus 
C) Casca   D) Marcus Brutus 

97) Choose the right meaning for the word ‘howler’  
A) A raised place of ground  
B) Very difficult to bear 
C) A Stupid mistake which makes everyone laugh 
D) Sending out small amount  of Smoke  

98) A bushel is a unit for measuring grain One bushel equals 
A) 8 gallons   B) 10 Kg   
C) group of 5 fields  D) a para 

99) ‘’Behind My bed room like a brooding dog’’ Identify the Figure 
of Speech and the title  
A) Similie,  Piano  
B) Similie My Grand mothers  House 
C) Metaphor, Punishment in kindergarten 
D) Similie, to a millionaire   

100) Which English poet won the Atlantic Award for literature? 
A) D.H. Lawrence B) Annie Louisa Walker 
C) Leo Colstoy  D) James Kirkup 
 

GENERAL KNOWLEDGE 

 
ASSERTION – REASON BASED QUESTIONS  

A) Both (A) and (R) are true and R is the correct explanation of (A)      

     / (A) ம��� (R) ச�. (R) எ
ப� (A) வி�� ச�யான விள�க� 

B) Both (A) and (R) are true but (R) is not correct explanation of 

(A) / (A) ம��� (R) ச�. ஆனா� (R) எ
ப� (A) வி�� ச�யான 
விள�க� அ�ல 

C) (A) is true but (R) is false / (A) ச�. ஆனா� (R) தவ� 

D) (A) is false but (R) is true / (A) தவ�. ஆனா� (R) ச� 
101) Electrons in the atoms are held in the atom due to 

A)Coulomb force  B)nuclear force 
C)Electromagnetic force D)Vandelwaal’s force 
அ��களி� உ�ள எல��ரா
களி
 மீ� எ"த விைச 
ெசய�ப%கிற�? 
A))*� விைச  B)அ� விைச 
C)மி
கா"த விைச  D)வா+ட-வா� விைச 
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102) ெபா./�க:  Match the following: 

A)Serfoji  1.Marathas 
B)Nana Fadnavis 2.Mysore 
C)Krishnaraja II 3.Karnataka 
D)Umadat-ul-umara 4.Tanjore 
A)A-4  B-1  C-3  D-2 B) A-1  B-4  C-3  D-2 
C) A-4  B-2  C-3  D-1 D) A-4  B-1  C-2  D-3 

103) Which of the following Governor general called himself “a 
Bengal Tiger” 
கீ2�க+டவ��� எ"த கவ-ன- ெஜனர� த
ைன தாேன 
“வ6காள7 8லி” எ
� அைழ/�� ெகா+டா-? 
A)Wellesley B)Cornwallis    C)Dalhousie   D)Canning 

104) ெபா./�க:   Match the following: 

A)Suppression of pindaris  1.Ripon 
B)Suppression of Thugs  2.Hastings 
C)Ilbert Bill    3.Bentinck 
D)Permanent Settlement  4.Cornwallis 
A) பி+டா�க� ஒழி78   1.�7ப
 
B)த�க-க� ஒழி78   2.ேஹ=>6�= 
C)இ�ப-� மேசாதா   3.ெப+>6 
D)நிர"தர வ�/தி�ட�   4.கா-
 வாலி= 
A)A-3  B-2  C-1  D-4 B) A-2  B-3  C-1  D-4 
C) A-1  B-2  C-3  D-4 D) A-4  B-1  C-2  D-3 

105) The objective of the which five year plan was “ growth 
with stability” and “progressive achievement of self reliance “ 
எ"த ஐ"தா+%/ தி�ட/தி
 ேநா�க�” “நிைலயான வள-Bசி” 
ம��� “த�சா-ைப எ�%வத�கான ெதாட-Bசியான Cய�சி” 
A)IV  B)V  C)VII  D)VIII 

106) ASSERTION: In 1951 the first Indian Institute of 

Technology was set up at Kharagpur. 
)��: 1952� Cத� இ"திய ெதாழி�H�ப நி�வன�(ஐ.ஐ.>) 
கார�K�� அைம�க7ப�ட� 

REASON: IIT is based on the model of Massachusetts 

Institute of Technology 
காரண�: ஐ.ஐ.> மாசMெச�= ெதாழி�H�ப நி�வன/ைத 
C
 மாதி�யாக� ெகா+ட�. 

107) Arrange the following Prime Ministers of India in the 
chronological order of their reign 
கீ2�க+ட பிரதமம"தி�கைள அவ-களி
 ஆசி7ப> 
காலCைற7ப> வ�ைச7ப%/�க 
I)I.K.Gujral  II) H.D.Deve Gowda 
III)V.P.Singh  IV)Chandra Shekar 
A)I,II,III,IV B)III,IV,II,I      C)III,IV,I,II  D)IV,III,I,II 

108) ெபா./�க:  Match the following: 

A)Francis Day 1.Calcutta 
B)Job Charnock 2.Madras 
C)William Jones 3.Bhagavad Gita 
D)Charles Wilkins 4.Asiatic Society of Bengal 
A)A-1  B-2  C-3  D-4 B) A-1  B-2  C-4  D-3 
C) A-2  B-1  C-3  D-4 D) A-2  B-1  C-4  D-3 

109) எ� தவ�?/ Choose the incorrect? 
A)Bharavi  -Kirtanjuniya 
பாரவி  -கிரதா- ஜூனிய� 
B)Dandin  -Dasakumara Charitham 
த+>
  -தச�மாறச�த� 
C)Perialwar  -Thiruvaaimozhi 
ெப�யா2வா- -தி.வாQெமாழி 
D)Kanchiappa -Kandapuranam 
Sivachiar 
கBசிய7ப  -க"த8ராண� 
சிவாBசியா- 

110) ெபா./�க:  Match the following: 

A)Mirat-ul-akbar 1.Raja Ram Mohan Roy 
B)Tatturabodini 2.Mohammed Ali 
Patrika 
C)Udbodhana 3.Debendranath Tagore 
D)Comrade  4.Vivekanda 
A)A-1  B-3  C-4  D-2 B) A-2  B-3  C-4  D-1 
C) A-1  B-3  C-2  D-4 D) A-3  B-4  C-2  D-1 

111) Which is correct?/ கீ2�க+டவ��� எ� ச�? 
A)sound waves are transverse waves 
ஒலி அைலக� ���கைலக� 
B)sound travel faster through vacuum 
ஒலி ெவ�றிட/தி� மிகR� ேவகமாக ெச�*� 
C)sound travels faster in gases than in liquids 
ஒலி திரவ/ைத�கா�றி*� வாS�களி� ேவகமாக ெச�*� 
D)sound travels faster in solids than in gases 
ஒலி வாSைவ� கா�றி*� திட7ெபா.ளி� ேவகமாக ெச�*� 

112) When water is heated from 0
0
C to 10

0
C . Its volume 

KTய� >கி� ெச�சிய/திலி."� 10 >கி� ெச�சிய= 
ெவ7ப7ப%/தினா� நU�
 கன அளR 
A)increases/)%� B)decreases/�ைறS� 
C)first decreases and then increases 
Cதலி� �ைறS� பி
 )%� 
D)first increasesd and then decreases 
Cதலி� �ைறS� பி
 )%� 

113) A radioactive substance has a half life of 4 months. Three 
fourths of the substance will decay in 
ஒ. கதி�ய�க/ தனிம/தி
 அைர ஆS�கால� 4 மாத6க�. 
அ"த தனிம� C�கா� ப6� சிதவைடவத�� ஆ�� கால�. 
A) 6 months B) 8 months    C) 12 months D) 16 months 

114) Which one of the following is/are vector quality? 
கீ2�க+டவ��� எ�/எைவ ெவ�டா- அல�? 
I)  Momentum/உ"த�       II) Pressure/அV/த� 
III) Energy/ஆ�ற�        IV) Work/ேவைல 
A) I&II only B) I only  C) I,III,IV only D) I&IVonly 

115) pH values of 0.001 M HCl and 0.1M NaOH solutions are? 
0.001M Hcl கைரச� ம��� 0.1M NaOH கைரச� இவ�றி� 
pH மதி78க� Cைறேய  
A) 13 and 3 B) 3 and 13    C) 1 and 12 D) 12 and 1 

116) Compounds           Oxidation Numbers 

ேச�ம�க�              ஆ
ஸிேன�ற எ� 

A)Oxidation number of Mn in MnO 2   1)3 

B) Oxidation number of S in H 2 S 2 O 7   2)4 

C) Oxidation number of Al in NaAlH 4   3)5 

D) Oxidation number of N in HNO 3   4)6 

A)A-2 B-1 C-4 D-3  B) A-2 B-4 C-1 D-3 
C) A-4 B-1 C-3 D-2  D) A-4 B-3 C-2 D-1 

117) Tallest angiosperm is / மிக உய-"த ஆWசிேயா=ெப-� 
எ�? 

       A) Eucalyptus(Xகலி7ட=) B) Red wood tree(சிக78 உ� மர�) 

       C) Oak tree(ஒ� மர�)         D) Pinus(ைபன=) 

118) ெபா.�         PH value 
A) Blood   1)6.7 
B) Milk   2)2.9-4.2 
C) Sea water  3)7.5-8.4 
D) Wine   4)7.3-7.5 
A)A-4 B-1 C-3 D-2  B) A-4 B-3 C-1 D-2 
C) A-1 B-2 C-3 D-4  D) A-3 B-4 C-2 D-1 

119) Which of the following can propagate in vacuum? 
கீ2க+டவ��� எைவ ெவ�றிட/தி� பரR� 

1.Radio waves(ேர>ேயா அைலக�) 
2.light waves(ஒலி அைலக�) 
3.X-rays(X- அைலக�) 
4.Ultrasonic Waves(மீெயாலி அைலக�) 
A)1,2, and 3  B)1,2,3, and 4  C)2,3, and 4  D)1 and 4 

120) 2-4-D is a  
A)Insecticide  B)Fertiliser   C)Fungicide   D)Weedicide 
A)IKBசி�ெகா�லி B)உர� C)KWைச�ெகா�லிD)கைள�ெகா�லி 
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121) ெபா./�க:  Match the following: 

A)Blue Vitriol  1.Sodium Bicarbonate 
B)Epsom salt  2.Sodium Hydroxide 
C)Baking soda 3.Magnesium Sulphate 
D)Caustic Soda 4.Copper Sulphate 
A) A-4B-3  C-1  D-2  B) A-4  B-3  C-2 D-1 
C) A-3 B-4  C-2  D-1 D) A-3 B-4   C-1 D-2 

122) Which  one of the following is not present in RNA? 

கீ2�க+டவ��� எ� RNA’� இ�ைல? 
A)thiamine (ைதயாமி
)   B)guanine(�வாைன
) 
C)cytosine(ைசைடெச
)   D)uracil(Sராசி�) 

123) Which one of the following is incorrect? 
கீ2�க+டவ��� எ� தவ�? 

A) The smallest cell is Mycoplasa Gallaosepticum 
மிகBசிறிய ெச�, ைமேகாபிளா=மா    காேலாெச7>க� 
B) Largest cell is Ostrich’s  egg 
மிக7ெப�ய ெச�, தU�ேகாழியி
 C�ைட 
C) In animal cells vacuoles are small in numbers but large in size. 
வில6� ெச�களி
 வா�� ேவா�க� �ைறவாகR�, உ.வ/தி� 
ெப�யதாகR� இ.���. 

D) Golgibody is also called Dictyosome. 
ேகா�ைக உ�78 >�>ேயாேசா� என அைழ�க7ப%�. 
124) A.The Air Prevention and Control of PollutionAct1.1974 

B.Environmental Prevention Act                    2.1981 
C.Water(Prevention and Control of Pollution)act 3.1986 
D.Forest Conservation Act                                   4.1980 
A) A-2     B-3     C-1     D-4  B) A-3     B-2     C-1     D-4 
C) A-1     B-4     C-2     D-3  D) A-1     B-2     C-4     D-3 

125) Industrial production of Ethanol from starch is brought 
about by the organism 
A)azotobacter                B)pedicoccus 
C)zygomycetes  D)saccharomyces 
ெதாழி�சாைலகளி
 எ/தனா� =டா-Bசிலி."� கீ2�க+ட 
எ/த உயி�யி
 உதவியா� தயா��க7பப%கிற�? 
A)அசேடாபா�ட-  B)ப>ீேயாகா�க= 
C)ைசேகாைமசசி>=  D)சா�ேராைமசி= 

126) Which one of the following is correct? 
கீ2�க+டவ��� எ� ச�? 
I) Carolus Linnaeus  - Genera Plantarum 
II) R.H.Whittaker  - Penta Kingdom 
III) Theophrastus  -Father of Botany 
I) கா-ல= லி
ேனய= -ெஜனரா பிளா+டார� 
II) R.H. வி�ேடக-  -ஐ"� பா�பா% 
III) ைதSபிைர=ட=  -தாபரவியலி
 த"ைத 

     A) I,II ம�%� ச� B) II,III ம�%� ச� 

          C) I,III ம�%� ச�       D) அைன/�� ச�/ All are correct 
  

127) Organism           No.of.Chromosomes 

           உயி�                                      (�ேராேமாேசா�க�) 
a. Dog (நாQ)  1. 78 

b. Monkey (�ர6�)  2. 64 

c. Chimpanzee (சி�ப
சி) 3. 48 

d. Mosquito (ெகாc)  4. 42 

e. Horse (�திைர)  5. 6 

A) a-2 b-1 c-3 d-5 e-4 
B) a-4 b-2 c-1 d-3 e-5 
C) a-3 b-4 c-2 d-5 e-1 
D) a-1 b-4 c-3 d-5 e-2 

128)  

A.Monocots(ஒ�ைறயிைல தாவர�)1.coniferous(ஊசியிைல)  

B.Dicot(இ.விைதயிைல/ தாவர�)2.Living fossils(உயி- 8ைதப>வ�) 

C.Pinus(ைபன=)        3.sunflower (M�யகா"தி) 
D.Ginkgo,Cycas(ஜி6ேகா,ைசகா=)4.Maize (ேசாள�) 

A) A-1     B-2     C-3     D-4       B) A-4     B-3     C-1     D-2 
C) A-3     B-4     C-1     D-2       D) A-3     B-4     C-2     D-1 

129) Edible part of Mango is 
மா�பழ/தி
 சா7பி%� ப�தி 
A) epicarp  -எபிகா-7 
B) endocarp  -எ+ேடாகா-7 
C) mesocarp -மீேசாகா-7 
D) pericarp  -ெப�கா-7 

130) Which one of the following has its own DNA? 
கீ2�க+டவ��� எத�� அத�ெகன DNA உ+%? 
I) Mitochondria  - ைம�ேடாகா+>�யா 
II) Dictyosome  ->�>ேயாேசா� 
III) Lysosome  -ைலேசாேசா� 
IV) Chloroplast  -�ேளாேராபிளா=� 
A) I&II B) II&III  C) I&IV  D) II&IV 

131) A.Gonads  1.Insulin 

(ேகானா�க�)  (இ
cலி
)  

B.Pituitary   2.Progesterone 

(பி�X��)                                  (8ேராெஜ=�ேரா
 
C Pancreas                               3.Growth Hormone 

(கைணய�)               (வள-Bசி ஹ-ேமா6க� ) 
D.Adrenal                4.Cortisone(கா->ேசா
) 
A) a-1 b-3 c-2 d-4  
B) a-3 b-2 c-4 d-1  
C) a-2 b-3 c-4 d-1  
D) a-2 b-3 c-1 d-4     

132) Insuline was discovered by / இ
cலிைன� 
க+%பி>/தவ- 

A) F. Banting (F. பா+>6) 
B)Edward Jenner(எ�வ-� ெஜ
ன-) 
C)Ronald Ross(ெரானா�� ரா=) 
D) Frederick Sanger (பிரெட�� சா6க-) 

133) Which of these are water soluble Vitamins, 
கீ2�க+டவ��� எைவ நU�� கைரS� ைவ�டமீ
க� 

1) Niacia(நியாசி
         2) Retinol (ெர>னா�) 
3) Thianine(ைதயாமி
)  4) Pyridoxin(ைப�டா�சி
) 
A)1,2, and 3 B)2,3, and 4  C)1,3, and 4  D)1,2,3 and 4 

134)  

I) Dental formula for a child =
2123

2123
 

II) Dental formula for an adult =
2120

2120
 

A) I alone is correce      B) II alone is correct 
C) both I&II are correct  D) both I&II are incorrect 
 
 

135) Which one of the following is incorrect? 
கீ2�க+டவ��� எ� தவ�? 
A)Chipko Andolan was born on 24 April 1973 in Mandel near 
Gopeshwar of the Chamoli dt  of uttarakhand சி7ேகா 
அ"ேதால
 உ/தர�கா+ட மாநில�, சேமாலி மாவ�ட/தி� 
ேகாேப=வ- எ
ற இட/தி
 அ.கி� உ�ள ம+ட� எ
ற 
இட/தி� 1973 ஏ7ர� 24’� பிற"த� 
B)India’s first operational remote sensing satellite  
(IRS-1A) was launched on 17, March 1988 
இ"தியாவி
 Cத� ெசய�ப�ட ெதாைலSண-R ெசய�ைக� 
ேகா�,(IRS-1A) மா-B17 1988’� ஏவ7ப�ட�  
C)India’s first Geo-stationary satellite APPLE  launched on 
june 19, 1981. 
இ"தியாவி
 Cத� 8விைய ெசய�ைக� ேகா� APPLE, M
 
19, 1981’� ஏவ7ப�ட� 
D)India’s first experimental flight of SLV-3 launched in 10

th
 

Aug 1989 
இ"தியாவி
 Cத� ேசாதைன ரா�ெக� SLV-3 ஆக=� 10, 
1989’� ஏவ7ப�ட� 



RADIAN IAS ACADEMY  (A Hi-Tech Advanced Coaching cum Guidance Centre)       -7-       www.radiannews.pbworks.com 

711 EVR Road, Opp. Anna Arch, NSK Nagar, Arumbakkam, CHENNAI-106.    E-mail: r.rajaboopathy@gmail.com    Ph: 98404-00825, 98404-33955 

 

136) India adopted the International system of units (SI), the 
metric system on / இ"தியாவி� ச-வேதச அல� Cைற (SI) 
ம��� தசமCைற எ
றிலி."� அC*�� வ"த�? 

        A) 22
nd
 march 1950  B) 22

nd
 march 1957 

        C) 1
st
 april 1950  D) 1

st
 april 1957 

137) ெபா./�க/ match the following 
A) Greenpeace  1.Geneva 
B) WWF   2.Amsterdam 
C) IPCC   3.gland 
D) Amnesty International 4.London 
A) A-2 B-3 C-1 D-4 
B) A-4 B-3 C-1 D-2 
C) A-2 B-1 C-3 D-4 
D) A-4 B-1 C-3 D-2 

138) The annual rate of inflation is 20%. If the cost of 
commodity is Rs. 50 per kg in 2013, what will be its cost in 
2015?  ஆ+% பண வ U�க/தி
 விகித� 20% 2013’� ஒ. 

ெபா.ளி
 விைல i50 எனி� 2015;� அ"த ெபா.ளி
 விைல 

எ
னவாக இ.���? 
A)60 B)70  C)62  D)72 

139) P and Q can do alone a project in 25 days and 30 days 
respectively. They work together for  5 days and then ‘P’ 
leaves due to illness, Q finishes the rest. How long Q alone 
works after P leaves. 
P ம��� Q எ
பவ-க� தனியாக ஒ. ேவைலைய C>�க 
Cைறேய 25 ம��� 30 நா�க� எ%/�� ெகா�வா-க� . 
அவ-க� இ.வ.� ேச-"� 5 நா�க� ேவைல பா-/தன- 
பி
ன- cகமி
ைமயா� P நி
�வி%கிறா-. மீதC�ள 
ேவைலைய P நி
ற பி
ன- Q எ/தைன நா�களி� C>7பா-? 
A)19 B)18  C)16  D)15 

140) Fresh grapes contains 80% water  and its dried part (ie) 
raisins contains 28% water. Then how many kg of raisins can 
be obtained from 90kg of fresh grapes 
திரா�ைச பழ6களி� 80% த+ண U- உ�ள�. உல-"த 
திரா�ைசயி� 28% த+ண U- உ�ள�. 90 கிேலா திரா�ைசயி� 

இ."� எ/தைன கிேலா உல- திரா�ைச கிைட���? 
A)20 B)25  C)32  D)36 

141) The height of a triangle is increased by 15% and the base 
is also increased by 15%. Find the increase in its area? 
ஒ. C�ேகாண/தி
 உயரC�, அ>7ப�கC� தலா 
அதிக�/தா�,பர7பளR எ/தைன சதவ Uத� அதிக����? 
A)26.5% B)30%  C)30.5%  D)32.5% 

142) What is the maximum number of identical pieces of cube 
that can be cut into by 3 cuts? 
ஒ.கனச�ர� j
� Cைற ெவ�ட7ப�டா� சம அளR�ள 
�+%க� அதிகப�ச� எ/தைன கிைட���? 
A) 9  B) 8  C) 27 D) 10 

143)  

 
A) 4  B) 5  C) 6 D) 7 

144) A is B’s sister . C is B’s mother. D is C’s mother. E is D’s 

mother. Then how is B related to D? B’
 சேகாத� A.B’
 தாQ C. 

C’
 தாQ D. D’
 தாQ E. எனி�  B எ
பவ-  D’�� எ
ன Cைற? 
A)garanddaughter  B)grandson  
C)grandmother   D)can not be determined  

145) The average marks of 12 students is 78% when a student 
who scored 66% was replaced by a new students, now the 
average increase by 1. What is the mark of the new students? 
12 மாணவ-களி
 சராச� மதிெப+ 78% . 66% மதிெப+ 

எ%/த மாணவ.�� பதி� 8திய மாணவ
 ஒ.வ
 
ேச-�க7ப�டதி� த�ேபா��ள 12 மாணவ-களி
 சதவ Uத� 1 
அதிக��கிற�. 8திதாக ேச-"த மாணவனி
 மதி7ெப+ 
எkவளR? 
A) 66% B) 78%  C) 79%  D) 67% 

146) What is the curved surface area of the largest cone which 
can be made  from the Hemisperical wood whose diameter is 
14cm. / 14ெசமீ வி�ட� ெகா+ட ஒ. அைரேகாள� 
க�ைடயலி."� ெவ�> எ%�க7ப�ட மிக7ெப�ய )�பி
 
வைள தள7பர78 எkவளR? 

A)616 2  B)308 2  C)176 2   D)154 2  
147) The ratio of the ages of daughter and mother in 2001 and 

2013 were 1:4 and 5:11 respectively. Find the difference of 
their ages in 2014?  2001 ம��� 2013� ஆ+% மக�  
ம��� அ
ைன ஆகிேயா-களி
 விகித6க� Cைறேய 1:4 
ம��� 5:11 ஆ��. 2014 ஆ� ஆ+% மக� ம��� தாQ 
ஆகிேயா- வய�களி
 வி/தியாச� எ
ன? 
A)18 B)20  C)22  D)24 

148) A  number when increased by 40% becomes 84. What is 
30% of the number? ஒ. எ+ைண 40% அதிக�/தா� 84 
ஆகிற� எனி� அkெவ+ணி
 30% எkவளR? 
A)18 B)20  C)15  D)21 

149) If under simple interest Rs.800 becomes Rs.956 in 3 
years. If rate of interest increased by 4% then how much 
Rs.800 gives interest in 3 years? தனி வ�>யி� i800 

j
� வ.ட6களி� i 956 ஆகிற�.வ�> 4% அதிக�/தா� 

அேத i 800 j
� வ.ட6களி� எkவளR வ�> த.�? 
A)252 B)256  C)260  D)266 

150) A sum of money compounded annually amounts to 
Rs.5120 in 3 years and Rs.7290 in 6 years. Find the rate of 
interest? 
ஒ. ெதாைக )�% வ�>யி� j
� ஆ+%களி� i5120 

ஆகR�, ஆ� ஆ+%களி� i7290 ஆகR�. ஆனா� வ�> 
சதவ Uத� எkவளR? 
A)7.5% B)10%  C)12.5%  D)15% 

151) If two cards are drawn from a well suffled deck, what is 
the probability that both arer hearts or both are clubs? ஒ. 
க�%Bசீ�%�க�>லி."� 2 சீ�%க� எ%�க7ப%கிற�.இர+%� 
heart ஆகேவா, club-ஆகேவா இ.7பத�கான நிக2தகR எ
ன? 

A)
26*51

132
 B)

52*51

66
  C)

26*51

156
 D)

52*51

132
 

152) A cuboidal cistern 6m long and 4m wide contains water 
upto a depth of 1m 25cm. The total area of the wet surface is  
6மீ நUள�, ம��� 4மீ அகல� ெகா+ட ஒ. கனெசkவக 
நU-/ெதா�>யி� 1மீ 25ெசமீ உயர/தி�� நU- உ�ள�. ஈர� 

ெகா+ட ப�தியி
 பர78 எkவளR? 

A)73  m
2
 B)49 m

2
C)60 m

2
 D)30 m

2
 

153) The area of a rectangular field is 144 m
2
 if the length is 

increased by 5 metres , its area increases by 40 m
2
. Find the 

length of the  field? ஒ. ெசkவக வ>வ வயலி
 பர78 

144மீ
2
 . அத
 நUள� 5மீ அதிக��க7ப�டா� பர78 40 மீ

2
 

)%கிற� . அkவயலி
 நUள� எkவளR? 
A)16m B)18m  C)20m  D)22m 

154) A can do ¼ of a piece of work in one day while B can do 
1/6 of the work in a day. In How many days can they do the 
same work together? A நா
கி� ஒ. ப�தி ேவைலைய ஒ. 
நாளி*�, B ஆறி� ஒ. ப�தி ேவைலைய ஒ. நாளி*�, 
C>��� ஆ�ற� உ�ளவ-க�. அவ-க� இ.வ.� ேச-"� 
ேவைல பா-/தா� CV ேவைல எ/தைன நா�களி� C>S�? 

A) 2 
5

1
 B) 2

5

2
      C) 2

5

3
  D) 2days 

155) The Preamble of the Indian Constitution  adopted on 26
th
 

November ,1949 did not include the terms 
1. Socialist 2. Secular  3. Integrity   4.Republic 
நவ�ப- 26, 1949� ேததி Cக78ைரயி� இ�லாத வா-/ைதக�  

1. ேசாசியலிச� 2. மதBசா-பி
ைம 3. ஒ��ைம 4. �>யரc 
A) 1,2, and 3 B) 2,3, and 4  C) 1,2, and 4 C) 3 and 4 
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156) PLAN MODEL         AUTHOR 
A. Bombay Plan                1. Jai Prakash Narayanan. 
B. Gandhian Plan       2. MN Roy. 
C. People’s Plan               3. Sriman Narayan. 
D. Sarvodaya Plan       4. Birla and Tata Groups. 
A)A-2 B-4 C-3 D-1  B)A-2 B-3 C-4 D-1 
C)A-4 B-2 C-3 D-1  D)A-4 B-3 C-2 D-1 

157)  
A) Annual Financial Statement  1. Article.110 
B) Supplementary grants     2. Article.112 
C) Appropriation Bill  3. Article.114  
D) Definition of ‘Money Bill’       4. Article.115 
A) ஆ+% நிதிநிைல அறி�ைக   1. விதி.110 
B) )%தலான நிதி உதவிக�  2. விதி.112 
C) நிதி ஒ��கீ�% மேசாதா  3. விதி.114 
D) பண மேசாதா   4. விதி.115 

A) A-2 B-3 C-4 D-1  B) A-1 B-4 C-3 D-2 
C) A-2 B-4 C-3 D-1  D) A-1 B-3 C-4 D-2 

158) Which country joined as the 18
th
 member of the Euro 

Zone. எ"த நா% Xேரா ம+டல/தி� 18வ� நாடகB ேச-"த�. 
A) Lithuania     B) Latvia      C) Romania    D) Croatia 

159) Match the following./ ச�யானைத ெபா./�க. 
A) Chandrayaan –1(India’s first Lunar Mission)- PSLV C10 – 22

nd
 Oct.2009 

B) Mangalyaan(India’s first Mars orbiter)–PSLV C25 –5
th
 Nov. 2012.     

C) GSAT 14 -  GSLV D5 (Indian built Cryogenic Engine )- 5
th
 Jan 2014           

D) IRNSS 1B(Second Satellite of IRNSS)-PSLV C24  - 4
th
 March 2014.   

160) கீ2�க+ட கமி�>கைள காலCைற7ப> வ�ைச7ப%/�க. 
Arrange the following committees in chronological order 
1) JVP committee / JVP �V 
2) S.K.Dhar committee / S.K. தா- �V 
3) Fazl Ali Committee / பச� அலி கமி�> 

A) 1-2-3 B) 3-2-1       C) 3-1-2 D) 2-1-3 

161) What was the average GDP growth rate in the Eleventh 
Five Year Plan? 11வ� ஐ"தா+% தி�ட/தி� உ�நா�% 
ெமா/த உ�ப/தி சராச� வள-Bசி வ Uத� எkவளR. 
A) 7.2% B) 7.9%  C) 8.2%     D)8.5% 

162) Which of the following is/are correct  
I) IDA is soft loan (மிக��ைற"த வ�>) window of the  world 

II) SDR is known as per paper Gold(த6க� காகித�) 
A) I ம�%� ச�/ I alone is Correct 
B) II ம�%� ச� / II alone is Correct 
C) I ம��� II ச� / Both 1 & II are Correct  
D) I ம��� II தவ�/ Both I &II are Incorrect  

163) ¦ºøÖÄ¡÷ ¦¾¡¨Ä§Àº¢ §º¨Å þó¾¢Â¡Å¢ø ±ó¾ ¬ñÎ 
¦¾¡¼í¸ôÀð¼Ð? Which year India’s first Cellular Service 
(31

st
 July) launched in then Calcutta in West Bengal? 

a) 1994 b) 1996  c) 1995  d) 1997 

164) According to 2011-census the minimum density of population 
for urban area is/2011 Áì¸û ¦¾¡¨¸ì ¸½ì¦¸ÎôÀ¢ý ÀÊ 
¿¸÷ÒÃÁ¡¸ ¸Õ¾ôÀ¼ «íÌ þÕì¸ §ÅñÊÂ Ì¨Èó¾ Àðº 
Áì¸û «¼÷ò¾¢ ±ùÅÇ×? 
A) 500/km B)400/km C)300/km D)600/km 

165)     CASES                      YEAR 
A)Minerva Mills Ltd Vs Union of India              1)1967 

         B)Golak Nath Vs The state of Punjab                 2)1973 
        C)Kesavananda Bharati Vs The state of Kerala      3)1981 

a)A-1 B-2 C-3  b)A-1 B-3 C-2   c)A-2 B-1 C-3 d)A-3 B-1 C-2 

166) Which Article of the Constitution deals with adjudication 
of water Disputes? þó¾¢Â «Ãº¢ÂÄ¨ÁôÒ ºð¼ò¾¢ý ±ó¾ 
Å¢¾¢Â¢ø ¿¾¢ ¿£÷ À¢Ãîº¢¨Éì¸¡É ¾£÷× ÌÈ¢òÐ 
ÜÈôÀðÎûÇÐ? 
a) Art.261 b) Art.262       c) Art.263      d) Art.264 

167) Our President Pranab Mukherjee was the chief guest at the 

National Day Celebration of Which countries / நம� �>யரc 
தைலவ- பிராணா7 Cக-ஜி கீ2�க+ட எ"த நா�>
 ேதசிய 
நா� விழாவி� C�கிய வி."தினராக ப6ேக�றா-  
A) Singapore / சி6க7K- B) Maldives /  மால/தUR 
C) Kenya / ெக
யா    D) Mauritius / ெமா�ஷிய= 

168) ?ò¾¢Ã§Áå÷ ¸ø¦ÅðÎì¸¨Ç ?ÕÅ¡ì¸¢ÂÅ÷ 
a) Ó¾Ä¡õ Ã¡ƒÃ¡ƒý b) Ó¾Ä¡õ Ã¡§ƒó¾¢Ãý 
c) Ó¾Ä¡õ Ì§Ä¡òÐí¸ý d) Ó¾Ä¡õ ÀÃ¡ó¾¸ý 
The Uttaramerur inscriptions were issued by 
a)Raja Raja I   b) Rajendra I 
c) Kulothunga I  d) Parantaka I 

169)        Quality                   Unit 

a) Velocity (திைசேவக�)  1) [MLT
2−
] 

b) Force (விைச)   2) [LT
1−
] 

c) Work (ேவைல)   3) [ML²T
2−
] 

d) Momentum (உ"த�)  4) [MLT
1−
] 

       A) a-2 b-1 c-3 d-4 B) a-3 b-4 c-1 d-2 
       C) a-2 b-1 c-4 d-3  D) a-4 b-3 c-2 d-1 

170) Consider the following statements 
1) The USSR assisted in Bhilai street plant. 
2) The British assisted in the Bokaro Steel plant. 
Which of the statements given above is/are correct? 
A) Only 1    B) Only 2   C) Both 1 and 2   D) Neither 1 nor 2 

1)ேசவிய/ உதவிSட
 பிலாQ எஃ� ெதாழி�சாைல க�ட7ப�ட�. 
2) UK உதவிSட
 ெபாகாேரா எஃ� ெதாழி�சாைல க�ட7ப�ட� 

ேம�க+டவ��� எ�/எைவ ச�யான�? 
A)  1 ம�%� ச�                  B) 2 ம�%� ச� 

      C) 1 ம��� 2 ச�யானைவ   D)  இர+%� தவறானைவ    
171) Madras gram panchayat act was brought in 
ெம�ரா= கிராம பWசாய/� ச�ட� ெகா+% வர7ப�ட ஆ+% 

A) 1920 B) 1921      C) 1922 D) 1923 

172) The word ‘utkal’ inthe national Anthem of india denotes 
A) Uttar Pradesh B) Odisha   C) Punjab D) Kerala 

ேதசிய கீத/தி� வ.� ‘உ/க�’ எ
ற ெசா� எைத �றி�கிற�? 
A) உ/தரபிரேதச�   B)ஒதிசா  C)பWசா7  D) ேகரள� 

173) Which one of the following is correctly matched? 
A) Baking soda - Sodium bicarbonate 
B) Caustic soda - Calcium carbonate 
C) Sodalime  - Sodium carbonate 
D) Washing soda - Calcium hydroxide 
கீ2க+டவ��� ச�யாக ெபா./த7ப�%�ள� எ�? 
A) சைமய�ேசாடா -  ேசா>ய� ைப கா-பேன� 
B) கா=>�(எ�) ேசாடா- கா�சிய� கா-பேன� 
C) ேசாடாைல� - ேசா>ய� கா-பேன� 
D) சலைவ ேசாடா - கா�சிய� ைஹ�ரா�ைச% 

174) List – 1  List – 2 

a) Artery  1) Pure blood 
b) Vein  2) Oxygennated blood 
c) Pulmonary Artery 3) Deoxygenated blood 
d) Pulmonary Vein 4) Impure blood 
 ப�>ய�-1  ப�>ய�-2 
a) தமனி         1) c/திக��க7ப�ட இர/த� 
b) சிைர         2) பிராணவாS ெச���ட7ப�டஇர/த� 
c) Hைரயரீ� தமனி   3) பிராணவாS இ�லாத இர/த�  

d) Hைரயரீ� சிைர    4) அc/த இர/த� 
        A) a-2 b-3 c-4 d-1 B) a-3 b-4 c-1 d-2 
       C) a-4 b-1 c-2 d-3  D) a-1 b-2 c-3 d-4 

175) In Tamil nadu which of the following places first All women Court 

was set up. / தமிழக/தி
 Cத� மகளி- நUதி ம
ற� எ6� 
ஏ�ப%/த7ப�%�ள�? 
A) Chennai B) Dindigul  C) Salem D) Srirangam 

176) Which of the following is India’s first exclusive defence satellite 
lunched in August 2013 

ஆக=% 2013� பா�கா78/ �ைற�கான ெசய�ைக ேகா�----- 
A) Arihant/அ�க+�  B) Rohini/ேராகினி 
C) Rukmini/.�மினி  D) Rajendra/இராேஜ"திரா 

177) When the national Green Tribunal has been established? 

எ7ெபா� ேதசிய பcைம தU-7பாய� ஏ�ப%/த7ப�ட�. 
A) 18.10.2010  B) 18.10.2009  C) 15.10.2010  D) 15.10.2009 
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178) Match the following: 

NATIONAL PARKS (ேதசிய7K6கா�க�) 
A) இராஜாஜி  - 1) தமி2நா% 

B) இ"திரா கா"தி - 2) உ/த-கா+� 

C) ப"தி7K-  - 3) க-நாடகா 

D) டாBசிகா� - 4) ஜ�C & கா�மீ- 
A) A-1 B-2 C-3 D-4  B) A-2 B-1 C-4 D-3 
c) A-1 B-2 C-4 D-3  D) A-2 B-1 C-3 D-4 

179) Match 

A) ேவ�ட��> Vettangudi      1)Tiruvarur 
B) உதய மா-/தா+�8ர�Udayamarthanda puram 2)Sivagangai 
C) கWசிரா
�ள�Kanjirankulam     3)Kanjipuram 

D) க�கி�ளி  Karikilli        4)Ramanathapuram 
A) A-2 B-3 C-4 D-1  B) A-2 B-1 C-4 D-3 
C) A-1 B-2 C-4 D-3  D) A-1 B-3 C-4 D-2 

180) ‘8வ
’ எ
ற 8திய இைணயதள� அ>7பைடயி� 
உ.வா�க7ப�ட 8வியி
 வைரபட/ைத உ.வா�கிய� 

Bhuvan’ the new web based mapping of earth was developed by 
A) NASA B) ISRO     C) Google  D) Yahoo 

181) ப�>ய� I ஐ ப�>ய� II உட
 ெபா./தி, கீேழ 
ெகா%�க7ப�%�ள �றிய%ீகைள� ெகா+% ச�யான விைடைய/ 
ேத-"ெத%: 
ப�>ய� I    ப�>ய� II 
a) TIFR    1) தி.வன"த8ர� 
b) வி+ெவளி இய�பிய ஆQR�)ட� 2) ெப6க�. 
c) SHAR நிைலய�   3) C�ைப 
d) ISROவி+ெவளி ேகா� நிைலய� 4) �ஹ��ேகா�டா 
Match List I with List II correctly and select your  answer using the 
codes given below: 
List I    List II 
a) TIFR     1) Thiruvananthapuram 
b) Space Physics Laboratory    2) Bengaluru 
c) SHAR centre    3) Mumbai 
d) ISRO satellite centre      4) Sriharikota 
�றிய%ீக�: Codes: 
A) a-3, b-1, c-4, d-2  B) a-1, b-2, c-3, d-4 
C) a-4, b-2, c-1, d-3  D) a-2, b-3, c-4, d-1 

182) jBc�கா�றி� இ.��� சாராய/ைத க+டறிய 
பய
ப%� ெபா.� 
A) MnO2 (ேம6கன U= ைட ஆ�ைஸ%) 
B) KMnO4 (ெபா�டாசிய� ெப-மா6கேன�) 
C) K2Cr2O7 (ெபா�டாசிய� ைட��ேராேம�) 
D) KNO3 (ெபா�டாசிய� ைந�ேர�) 
The oxidant used in the testing of alcohol in breath is 
A) MnO2 B) KMnO4 C) K2Cr2O7 D) KNO3 

183) 1, 3, 6, 11, 18, 29, ? 
A) 42 B) 45  C) 47  D) 49 

184) ´Õ þÂíÌ ÍÕû ¸¡øÅÉ¡ Á£ð¼÷ «õÁ£ð¼Ã¡¸ Á¡üÈ 
«¾Û¼ý 

A)Ì¨Èó¾ Á¢ý¾¨¼¨Â þ¨½ò¾¼Á¡¸ «¨Áì¸ §ÅñÎõ 
B)?Â÷ó¾ Á¢ý¾¨¼¨Â þ¨½ò¾¼Á¡¸ «¨Áì¸ §ÅñÎõ 
C)?Â÷ó¾ Á¢ý¾¨¼¨Â ¦¾¡¼¡¢¨½ôÀ¢ø «¨Áì¸ §ÅñÎõ 
D)Ì¨Èó¾ Á¢ý¾¨¼¨Â ¦¾¡¼¡¢¨½ôÀ¢ø «¨Áì¸ §ÅñÎõ 
A moving coil galvanometer can be converted into an ammeter by 
connecting  
A) a low resistance in parallel with a galvanometer 
B) a high resistance in parallel with a galvanometer 
C) a high resistance is series with a galvanometer 
D) a low resistance in series with a galvanometer 
185) Match the following: /¦À¡ÕòÐ¸: 

A) South China Sea  1) Cyclone 
B) Arafura sea   2) Tornado 
C) Gulf of Mexico  3) Typhoon 
D) Bay of Bengal  4) Willy-Willy 
A) ¦¾ý º£Éì¸¼ø  1) ÊÂø 
B) ¬Ã¡ôÒÃ¡ ¸¼ø  2) ¦¼¡÷É§¼¡ 
C) ¦Áì…¢§¸¡ Å¨ÇÌ¼¡ 3) ¨¼âý 
D) Åí¸¡Ç Å¢¡¢Ì¼¡  4) Å¢øÄ¢-Å¢øÄ¢ 
a) A-1, B-4, C-3, D-2 b) A-4, B-1, C-2, D-3 
c) A-3, B-4, C-2, D-1 d) A-3, B-2, C-4, D-1 

186) Which of the following celestial bodies bear, ‘The Sea of 
Tranquillity and “The Ocean of Storms’?/ ±íÌ «¨Á¾¢ì¸¼ø ÁüÚõ 
ÒÂø ¦ÀÕí¸¼ø ¸£úì¸ñ¼ ±íÌ ¸¡½ôÀÎ¸¢ÈÐ?    
a)Mars/ brt;tha;  b)Venus/bts;sp c)Moon/ re;jpud; d)Sun/ Ý¡¢Âý 

187) Match the following :/ bghUj;Jf 
A. Pampas/ gk;gh!;    1. Argentina/ mh;b$z;odh 
B. Campos/  nfk;g!;   2. Australia/ M!;jpnuypah 
C. Prairies / g;iuhP!;     3. South Africa/ bjd; Mg;gphpf;fh 
D. Veldt / bty;l; 4. North Africa / tl mbkhpf;fh 
E. Downs/ lt[d;!; 5. Brazil/ gpnurpy; 
A) A-1,B-2,C-3,D-4,E-5    B) A-1,B-5,C-4,D-3,E-2    

C) A-5, B-4, C-3, D-2,E-1  D) A-2,B-3,C-5,D-4,E-1 

188) Match the following / ெபா./�க: 
Drugs / Chemicals     Their Uses 
A) Atropine  1. Local Anaesthesia 
B) Ether                     2. Heart Trouble 
C) Nitroglycerine               3. Dilation of Pupil 
D) Pyrethrin                       4. Mosquito Control 
LIST - I   LIST – II 

    A) அ�ேராைப
          1. உண-வக�றி 

    B) ஈ/த-           2. இ.தய/ ெதா�ைல 

    C) ைந�ேராகிளிச�
     3. க+மணி வி�வைடத�       

    D) ைபெர/�
           4. ெகாc க�%7பா% 

Codes: 
a) A-3, B-1, C-4, D-2 b) A-1, B-2, C-3, D-4 
c) A-3, B-1, C-2, D-4 d) A-4, B-3, C-2, D-1 

189) Match the following / ெபா./�க: 
     LIST - I           LIST – II 
A) Bajra            1. Rust 
B) Wheat                               2. Wilt 
C) Groundnut                        3. Tikka 
D) Banana                        4. Ergot 

ப�>ய� – 1       ப�>ய� - 2 
A) க�8        1. �.7KWைச 
B) ேகா�ைம                             2. வாட� ேநாQ 
C) நில�கடைல       3. >�கா       
D) வாைழ                                        4. எ-கா� 
Codes: 
a) A-2, B-3, C-1, D-4 b) A-1, B-2, C-3, D-4 
c) A-4, B-1, C-3, D-2 d) A-3, B-4, C-2, D-1 

190) Assertion (A): In a pressure cooker, food is cooked above  
  boiling point 

Reason (R): Boiling point of water decreases as the pressure 
increases. 

உ�தி (A): பிரஷ- ��க�� உணR ெகாதிநிைல�� ேம� 
சைம�க7ப%கிற�. 
காரண� (R): அV/த� அதிகமாவதா� நU�
 ெகாதிநிைல 
�ைறகிற�. 

191) Match the following / ெபா./�க: 
     LIST - I           LIST – II 
A) Fruit             1. Ovule 
B) Seed                                     2. Leaf 
C) Wood         3. Stem 
D) Starch                        4. Ovary 

ப�>ய� – 1      ப�>ய� - 2 
A) கனி        1. M� 
B) விைத                            2. இைல 
C) மர�க�ைட       3. த+%      
D) =டா-B                                      4. M�ைப 
a) A-1, B-2, C-3, D-4    b) A-2, B-3, C-4, D-1 
c) A-3, B-4, C-2, D-1    d) A-4, B-1, C-3, D-2 

192) CHAIRPERSON             NAME 

A) 20
th
 Law commission  1) Y.V. Reddy 

B) 13
th
 Finance Commission  2) A.K. Mathur 

C) 14
th
 Finance Commission   3) A.P.Shah 

D) 7
th
 Pay Commission  4) Vijay L Kelkar 

      தைலவ�     ெபய� 
A) 20 வ� ச�ட� கமிஷ
  1) Y.V.ெர�> 
B) 13 வ� நிதி� �V  2) P.V.மா/�- 
C) 14 வ� நிதி� �V  3) A.P.ஷா 
D) 7 வ� ச�பள� �V  4) விஜQ ேக�க- 

A) A-4 B-3 C-1 D-2  B) A-4 B-3 C-2 D-1 
C) A-3 B-4 C-2 D-1  D) A-3 B-4 C-1 D-2 
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193) ‘Flame of the forest’ is 
a) Lupinus    b) Butea frondosa 
c) Clitoria    d) Crotolaria 
‘கா�%/தU’ எ
றைழ�க7ப%வ� 
a) �7பின=   b) 7X>யா ஃ7ரா+ேடாஸா 
c) கிளி�ேடா�யா          d) �ேரா�டேல�யா 

194)  

 
 A) 45 B) 48  C) 56  D) 50 

195) A man rows a boat 18 kilometres in 4 hours downstream  
and returns upstream in 12 hours. The speed of the stream 
km/h is: ஒ.வ
 தன� படகி� நU-ெச�*� திைசயி� 18கி.மீ 
�ர/ைத 4 மணி ேநர/தி*�, நU�
 எதி- திைசயி� அேத �ர/ைத 
12 மணி ேநர/தி*� கட"தா� நU�
 ேவக� எkவளR? 
A) 1  B) 1.5           C) 2             D) 3 

196) If the radius of a circle is decreased by 50% then its area 

is reduced by. ஒ. வ�ட/தி
 ஆர� 50 சதவ Uத� �ைறS� 
ேபா� அத
 பர7பளR எkவளR �ைறS�? 
A) 25% B) 50%     C) 75%     D) None of these 

197) There are chocolates to be equlity distributed to 60 
students, but 20 students were absent so the students got 2 
extra chocolates.How many chocolates are there? 
60 மாணவ-க��� சமமாக ெகா%7பத�காக சா�ேல%க� 

இ."தன. 20 மாணவ-க� வராததா� ஒkெவா. 

மாணவ���� 2 சா�ேல�%க� அதிக� கிைட/த�. ெமா/த 
சா�ேல�%க� எ/தைன? 

A) 300 B) 240        C) 120      D) 180 

198) Six faces of a cube are numbered 1 to 6 .Three different 
position of that cube are as shown below. Which number is 
exactly opposite to 4? 

 
ஒ. பகைட ஆ� ப�க6களி� 1 Cத� 6 வைர 
�றி�க7ப�%�ள
 .j
� ெவkவா� நிக2Rக� கீேழ 
ெகா%�க7ப�%�ளன எ+ ‘4’�� எதிேர உ�ள எ+ எ
ன? 
A) 2  B) 3  C) 6  D) 5 

199) What is the least number which when divided by 48, 60, 
72, 108, and 120 leaves the remainders 38, 50, 62, 98 and 
110 respectively? 

எ"த மிகBசிறிய எ+ைண 48, 60, 72, 108, and 120ஆ� 
வ�/தா� மீதி Cைறேய 38, 50, 62, 98 and 110 கிைட���. 

A) 1950 B) 2050  C) 2120  D) 2150  

200) 
( )( )( ) ( )( )( )
( )( ) ( )( ) ( )( )







++

−

8.63.78.68.63.73.7

8.68.68.63.73.73.7
=  

A) 0  B) 0.25  C) 0.5  D) 1 

EXTRA QUESTIONS 

1) 18Ar
40
 19 k

40
  20Ca

40
 are called 

A)Isotones-ஐேசாேடா6க� 
B)Isobars-ஐேசாபா-க� 
C)Isotopes-ஐேசாேடா7க� 
D)Isomers-ஐேசாெம-க� 

2) Outer covering of Virus made up of protein is  
8ரத6ளா� ஆன ைவரஸி
 ேம*ைற-----------என7ப%� 

A) capsid-கா7சி�      B) chitin-ைக>
 
C) virion -வி�யா
                D) viroid-வி�யா� 

 
 

 

NEW TNPSC GROUP-4, GROUP-1/2 BATCH  

At CHENNAI from July.6th(Sun), Attend First Day 

FREE (Free Class with FREE EVALUATION TEST) either 

at10AM-1PM(or)2PM-5PM.ATTEND ANY ONE TIMINGS.  

From July.13th onwards Classes on All Sundays 10AM-5PM 

and some Classes will also be held on Saturdays. 

NEW TNPSC GROUP-4, GROUP-1/2 BATCH. 

WEEK-DAYS REGULAR DAILY BATCH 

At CHENNAI after GROUP-1 Exam on July.23
rd
 10AM-

1PM. 
 

At MADURAI NEW TNPSC GROUP-4/2/1 BATCH 

from July.13th, Attend First Day FREE Class(Don't Miss 

First Class with FREE EVALUATION TEST) at 10AM. 

 

(OR) you can ATTEND CLASSES LIVE as well as 

RECORDED from anywhere. 

HOW TO ATTEND ONLINE CLASSES ?  

ஆ#ைல# வ�$%கைள எ$ப' பா�$ப( ?  

Even Students residing near to our CHENNAI-INSTITUTE 

prefer ONLINE Classes to CLASS-ROOM Classes, which are 

Very Convenient, you can watch Live by interacting with 

Teachers or you can also watch Recording Classes any 

number of Times at your convenient Time.  

( Morever ONLINE Classes with Very Nominal Fee ) 

 

CURRENT AFFAIRS ONLINE CLASS 

on June.27th(Fri) 10AM-1PM. 

Those who want to attend the above CURRENT AFFAIRS 

ONLINE Class, send a request class link to  

r.rajaboopathy@gmail.com 

www.radiannews.pbworks.com 

 

STUDY DAILY CONSISTENTLY ATLEAST 6 
HOURS TILL YOU GET YOUR DESIRED SERVICE. 
 

GE Qns set by Miss. Vinoliya Antony. 
GK Qns set by Mr.Rajaboopathy R. 
 

ALL THE VERY BEST. 

Rajaboopathy R 
 


